Warm Up Convert each term of the functions below to the form  $a x^n$  where  $n \in Z$ means integers  $f(x) = \frac{10}{\chi} + \frac{5}{\chi^2} =$ TURN YOUR Draft<sup>#</sup> | Hard Copy to basker

$$f(x) = \frac{10}{x} + \frac{5}{x^2} = \frac{10}{10x^2} + \frac{5}{5x^2}$$

## October 14, 2019

$$g(x) = \frac{3x^2 - 6x + x^3}{x^3} = 0 \times 10^{-10}$$

$$= \frac{3x^2 - 6x + x^3}{x^3} + \frac{3}{x^3}$$

$$= \frac{3}{x} - \frac{6}{x^2} + \frac{1}{x^3}$$

$$= \frac{3}{x} - \frac{6}{x^2} + \frac{1}{x^3}$$

$$g(x) = \frac{3x^2 - 6x + x^3}{x^3} =$$



















Last class, we found the gradeent of curves at a specific point (a) drawing a tangent and estimating (b) with GDC





Pick Up Notes 2,0

What we are about to look at will require you to focus on on the gradients of all of the tangents of a function







other symbols for 
$$ft$$
:  
 $f'(x) = \frac{dy}{dx}$   
 $f(x) = \frac{dy}{dx}$   
 $f'(x) = \frac{dy}{dx}$ 

















$$f(x) = f'(x)$$

$$x^{4} + 2x^{2} + 4x$$

$$x^{5} - 3x^{2} + 5x^{4} - 6x$$

$$\frac{2}{x} = 2x^{-1} + \frac{64}{6x} = 2 - 1x^{-2} = -2x^{-2} = \frac{2}{x^{2}}$$

$$\frac{3}{x^{2}} = 3x^{-2} + \frac{64}{6x} = 3 - 2x^{-3} = -6x^{-3} \text{ or } -\frac{6}{x^{3}}$$



Function	f(x)	f'(x)
a constant	a	0
$x^n$	$x^n$	$nx^{n-1}$
a constant multiple of $x^n$	$ax^n$	$anx^{n-1}$
multiple terms	u(x) + v(x)	u'(x) + v'(x)





2 For 
$$f(x) = x^5$$
, find:  
a  $f(2)$  b  $f'(2)$  c  $f(-1)$  d  $f'(-1)$   
 $f'(2)$   $f'(x) = 5x^4$   $= (-1)^5$   $f'(-1)$   
 $= 2^5$   $f'(2) = 5(2)^4$   $= -1$   $= 5(-1)^4$   
 $= 32$   $= 80$   $= 5$ 

3 Consider  $f(x) = \frac{1}{x^4}$ . a Find f'(x). b Find and interpret f'(1).  $f(x) = \chi^{-4}$   $f'(1) = -\frac{4}{(1)^5} = -4$   $f'(x) = -4\chi^{-5}$   $= -\frac{4}{\chi^5}$ -4 is the gradient of the tangent at  $\chi = 1$ 





Find 
$$f'(x)$$
 for.....  
 $f(x) = 5x^3 + 6x^2 - 3x + 2$   
 $f'(x) = 5(3x^2) + 6(2x) - 3(1) + 0$   
 $f'(x) = 15x^2 + 12x - 3$ 



$$f(x) = 7x - \frac{4}{x} + \frac{3}{x^3}$$

$$= 7x - 4x^{-1} + 3x^{-3}$$
First  
 $(2 \text{ Write}_{f(x)})$   
 $f'(x) = 7(1) - 4(-1x^{-2}) + 3(-3x^{-4})$   
 $f'(x) = 7 + 4x^{-2} - 9x^{-4}$   
 $O(f'(x)) = 7 + \frac{4}{x^2} - \frac{9}{x^4}$ 



$$f(x) = \frac{x^2 + 4x - 5}{x} \qquad f(x) = \frac{x^2}{x} + \frac{4x}{x} - \frac{5}{x}$$
$$f(x) = x + 4 - 5x^{-1}$$
$$f'(x) = 1 + 0 + 5x^{-2}$$
$$f'(x) = 1 + \frac{5}{x^2}$$









Derivatives, Numerically and Physically		
Part 1: Average Speed vs Instantaneous Speed		
(1) In 1 drive to New York City (about 100 miles) in 5 hours, what was my average speed.		
(2) I go driving for three hours. For the first 2 hours, I drive at a speed of 50 mph. For the last hour, I drive at 80 mph.		
-What was my average speed?		
-What was my instantaneous speed during each part of the trip?		
(3) What kind of speed does your car's speedometer read? What kind of speed does Calculus enable us to find?		
(4) On a graph, average speed is <u>the of</u> a line.		
On a graph, intantaneous speed is <u>theof</u> aline.		



Before we proceed we need to review some index (exponent) facts

Function	Can be written as:
$\sqrt{x}$	$\frac{1}{x^2}$
$\sqrt[3]{x}$	$x^{\frac{1}{3}}$
1	x <sup>-1</sup>
<i>x</i>	
$\frac{1}{\sqrt{x}}$	$x^{-\frac{1}{2}}$



